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§1. it EEH
1)# K

X im WE :A 0.400 m

% B = :H 5.000 m

E #& 8B 3500 m

WEERIE QA n 1:0.500

BELTEIE m 1:0.120

Bt & :Ho 0.000 m

2 A 1:0.000
2)FiAht

TEAW MWEL

HAKEBEES v 20.000 kN/m3

BhEFIEIA o 35.000

#EF Hc 10.000  kN/m2
3) XX Fim g

TEAW BRWELT

HFAXEFN qa 300.000  kN/m2

BERERE 0.600

f$%& % :Cb 0.000  kN/m2
4)3v9)—F

BAKEEE ve 23.000 kN/m3

AT EHETRE (ock 18 N/mm?2

HFERCHEDENEFZE 150
5)EmE

EEHFTE g 0.000 kN/m2
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B B & EE0IE

i‘m ﬁ *E }E:”] P L L]

i‘m iﬂz IZ ﬁj\ Fekkdokkkkdokk ok

RETAKFEREE kh 0.25
7) ik
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8) &% Xk

THR114£E3A ERITIEETIHEMS BAERGS [HEEOZEEHEORE]
TH24570 ERTIEEIHEMS BAERGS [(BHOREHEORE]
PEEEDERETALEHTES BIRE(RH & &)



§2. WMEIE

1)BE
g & Wc= %(A‘I‘B)'YC
— 5%& x(0.400+ 3.500)x23.000
224.250kN/m
B4 H He = Wcxkh
= 224.250x0.25
=  56.063kN/m
. B H 2A+B
Xec = . e (1 —
B i iXe >~ T % A+ (n—m)
_ 3.500 5.000 2x0.40043.500 _
= 2 T % " 0400¥3500 ~(0-500—0.120)
= 2.099m
. H 2A+B
:Y = .
B b Ye 3 ATB

5.000 2x0.400+ 3.500
3 0.400+3.500

= 1.838m



2)xx

b1 b2 b3




W:secB sin(w—¢@+8) —c-L-cosg

cos(w—¢@—a—35)

TEEHN (KN/m)

TOCVEE(LEHREZED) (KN/m)
MERSMA 6°=tan”-1kh
tan”-1(0.25)

14.036°
RELVETANAEKTFEOETA (°)
BHETERA ()

EAHTOFEIESA (KN/m2)
FHIRADEER (M)

BREOERA ()

BEEEA ()

—— 0

1
2

x35.000

17.500°
fhES (m)

2¢c ‘tan (45°+ % )
2x10.000 35.000
20000  “lan(s+—75—)

1.921m



w° b1(m) b2(m) b3(m) L(m) W(KN/m) | P(kN/m)

43 3.902 0.000 0.000 4515 258520 65.650
44 3.788 0.000 0.000 4.432|  250.670 67.196
45 3.679 0.000 0.000 4.354|  243.098 68.532
46 3.573 0.000 0.000 4.280| 235.787 69.672
47 3.471 0.000 0.000 4.210[ 228.717 70.629
48 3.372 0.000 0.000 4.143] 221.875 71.413
49 3.277 0.000 0.000 4.080| 215.244 72.036
50 3.184 0.000 0.000 4.019| 208.811 72.505
51 3.003 0.000 0.000 3.962| 202.564 72.830
52 3.006 0.000 0.000 3.907| 196.491 73.016
53 2.920 0.000 0.000 3.855  190.581 73.072
54 2.837 0.000 0.000 3.806| 184.825 73.003
55 2.756 0.000 0.000 3.759| 179.213 72.815
56 2.677 0.000 0.000 3.714|  173.737 72.511
57 2.600 0.000 0.000 3.671| 168.388 72.097
58 2.524 0.000 0.000 3.631| 163.159 71,577
59 2.450 0.000 0.000 3.592| 158.042 70.953
60 2.378 0.000 0.000 3.555 153.032 70.229
61 2.307 0.000 0.000 3.520|  148.122 69.407
62 2.237 0.000 0.000 3.487| 143.306 68.490

BRXEHIEOTADA :wa = 53 °

TEEHDEHERKIE:Pamax = 73.072  kN/m

FHETFEDERERS :Pav = Pa-sin(a+5d)

FHLEEDKFERS :Pah =

73.072xsin(6.843+23.333)

30.120

KN/m

Pa-cos(a+d)

73.072xcos(6.843+23.333)

66.576

KN/m




TEMERME

Ya

1.667m

B—EmE%AExYa
3.500—0.120%1.667

3.300m



§3. MEDREENHRE

1) REDOER
REE e
i& 7 \ H X y V=x H-y
(KN/m) (KN/m) (m) (m) (KN*m/m) | (KN=m/m)
BE 224.250 56.063 2.099 1.838 470.733 103.021
TE 30.120 66.576 3.300 1.667 99.396 110.960
> 254.370 122.638 570.129 213.981

BNOHEREE o= ZV ) 2HY)

>V
_ _ (570.129—213.981)
254.370
= 1.400m
HEORDE o= %—d
= 3390 4 490
2
= 0.350m

B2




2)ERfHICH T HIREHENRE
RDE:e=

- OK

0.350m =

w

¢ wlm
3 ‘

o

= OK

3)BECHIIREMEDRE

BEREHR Fs=

SV-u+CbB o . ...
= >1.2

OK

254.370x0.600+0.000%3.500
122.638

1.244=21.2--+--0OK



XFACHTIREMENRE

al

T+ rit ¢t 3 » 11/1/*//‘/
d ,ei Br2 A’ d ,ej B2
B B

< \
e=B. /60N 34 |
e>B. /60N
pAVS 6-e
1= == . - -
q 5 1+ 5 )
254.370 6x0.350
3500 1T 3800
= 116.283kN/m2
pAVS 6-e
2= =7 . —_
q 5 (1 5 )
254.370 6x0.350
L0 (-2
3.500 3.500
= 29.071kN/m2
q1 = 116.283kN/m2 = ¥ & X #§11:gax1.5 = 450.000kN/m2 - » - -OK

29.071kN/m2 = B X ¥ H:qa x1.5= 450.000kN/m2 * =+ -OK

g2



§4. MMOREEDHRE
1EHIVD)- M EOZISNEICHTIREENRE

ocl

ZCIZ, oc:  AVD)—-METEOZIEHAE (N/mm2)
N: BiAMEAD (kN)
A VDY—-tEEHEE (mm2)
e: AVY)-ETEORDENSEA R AIDEASEZTOER (mm)
W:  AVHU-MTEORDECEI T ST E R EL (mm3)

A = 1,000x3,500
= 3,500,000mm?2

1,000%3,500"2
6

= 2,041,666,667mm3



MESFHR

i& % \Y H X y V=X H-y
(KN/m) (KN/m) (m) (m) (KN*m/m) | (KN=m/m)
BE 224.250 56.063 0.349 1.838 78.296 103.021
TE 30.120 66.576 1.550 1.667 46.686 110.960
> 254.370 122.638 124.982 213.981
o= ZHZVIX 000
_ 213.981—124.982
- 254.370 *1,000
= 349.9mm
oc] = 254,370 + 254,370%x349.9
3,500,000 2,041,666,667
= 0.116mm2
0c2 = 254,370 . 254,370%x349.9
3,500,000 2,041,666,667
= 0.029mm2
VR _ ock 18 _
ERITEHEIS E oca = 1 Tx1'5 = 6.750 N/mm2
ocl =0.116 N'mm2 = oca = 6.750 N/mm2+---OK
oc2 = 0.029 N/mm2 = oca = 6.750 N/mm2----OK




2) FHEBAIC AEICHT IR EEDRE

BhAETIREAE

Sh.

b-d

_ClZ. ™Tm: EMETEICEULSIVD)—-MOEHEAERIG TE (Nmm2)
Sh: HHOEMNESNEILOEZEEZEELBAERTD (N)

™ =

Sh=8§8 — % (tanB+tany)

S: HEMEECERIZEAMEHSN (N)
M:  EMETEICERTIHATFE-AVEF (N-mm)
b: ZPMETEIE (mm)
d: EHMEEOES (mm)
B: HMMEBBEINBHEAREBTHE ()
y:  EMBISRBNEMMEAREBTARE ()

Sh = 122,638— 88’3?’95%’380 (tan63.435°+tan83.157°)
= 106,873N

o = 106,873

1,000x3,500
= 0.031N/mm2
E‘F@ﬁh&ﬁﬁﬁﬁfina=% +0.15 = 11080 +0.15 = 0.330N/mm2

™m = 0.031 N/mm2 = ta = 0.330 N/mm2--+-0OK



